$6-31% XKRERZERFDNEZHBTERATER (TRI19EE) (Bfii: WECPNL)

_ AIE | BEEE | H19 H20 B
B B/ ORT i
BB | higigER | 4 8 58 6 A 7R 8 A 9A 108 1A 128 1R 2R 3R HEEKR
BENER =1 I 69.8 69.8 69. 4 68. 4 68.5 68.7 69.5 69.6 69.4 69. 1 69.3 70. 1 69.3 @)
#
TEBR /PR =2 I 68.3 68.3 68. 1 67.1 66.3 67.0 67.7 68.3 68.9 68.5 68.7 68.4 68.0 O
7| #vyEty8— I 67.0 67.2 65.8 65. 4 64.9 65.8 66.9 67.0 67.6 (66.9) | (67.4) | (67.3) | (66.7) O
& tHF L2 — I 7.1 7.4 1.4 70.9 70.9 7.4 7.1 70.8 70.4 (69.9) | (70.8) | (71.3) | (71.0) X
FREREE il I 78.9 79.2 78.6 78.2 78.2 78.4 78.7 79.0 79.1 (79.3) | (79.1) | (79.2) | (78.8) X
n [ick /NS 2 I 79.9 80.4 80.6 80.9 81.0 80.9 80.4 79.9 79.6 78.8 79.2 80. 1 80.2 X
[ii]
| AR I 76.0 76.6 76.5 76.5 76.5 76.7 76.4 76. 1 75.8 (75.1) | (76.0) | (76.4) | (76.2) x
= EERESE 2 I 64.7 64.8 65.2 64. 4 64.9 64. 4 63.3 63.8 63.8 62.2 62.3 64.3 64.1 O
i
| REPER = I 67.6 68.0 68.3 67.5 67.6 68.2 67.8 67.6 67.2 (66.8) | (67.8) | (67.9) | (67.7) @)
[iié]
B | REEEER [ES| I 63. 6 63.5 63.4 62.2 63.0 64.3 64.5 64.6 63.8 (62. 8) (63.7) (64.2) (63.7) @)
T
= REJL/N8 -1 I 66.0 66. 2 66.3 65.7 65.2 66.3 65.9 66. 2 66.5 66.5 66. 7 67.4 66.3 @)
=3
| REEER I 66.2 66.2 65.8 64.3 65.0 65.5 66.0 66.5 66.3 (66.1) | (66.7) | (66.7) | (66.0) O
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2. ZAO@ED () ARFEKIFE1A, 28, SADT—4%. TFH #0 () NEFFERIE (BE) OFHETHD,
3. AEHENAEEHDHDE. FRIVERXREREERSHATER (KRMER) (2£5,
RIEHEATEH DL DE., MERBTERCATLATRIIGERENEFR (FRATREBRNERESE) I2X5,




